EXAM DATE : 17-August-2017
EXAM NAME : SSC Examination
TOTAL MARKS : 200

EXAM START TIME : 13:15:00
EXAM DURATION : 01:00 Hrs
TOTAL NO OF QUESTIONS : 100

QID : 101 - Select the related word from the given alternatives.
Office : Colleagues :: Home : ?

feu U fawedt & § Teifta reg & gl
PHATAY : GEPHI 11 TR : ?

Options:

1) Rest

SR

2) Work

DH

3) Friends

e

4) Family

IRaR

Correct Answer: Family

Candidate Answer: Family

QID : 102 - Select the related letters from the given alternatives.
XVT:RPN::LJH:?

feu T fameat & @ el srert & g

XVT:RPN::LJH:?

Options:

1) FDB

2) ECA

3) KIG

4) QOM
Correct Answer: FDB
Candidate Answer: FDB

QID : 103 - Select the related number from the given alternatives.
0.04:0.2::0.09:?

fu T faw et & § Tafa Tem & gl

0.04:0.2::0.09:7?

Options:

1)0.3

2)0.6

3)0.9

4)2
Correct Answer: 0.3
Candidate Answer: 0.3

QID : 104 - Select the odd word from the given alternatives.
fau e et 3 § faww wsg &) gy



Options:
1) Chair

2) Bench

EES

3) Bed

TR

4) Sofa

T

Correct Answer: Bed

Candidate Answer: Bed

QID : 105 - Select the odd letters from the given alternatives.

fu e fawmedt & I faww srert &1 gful
Options:
1) CEG

2) UXZ
3) ORT

4) ILN
Correct Answer: CEG
Candidate Answer: CEG

QID : 106 - Select the odd number from the given alternatives.

few e fawedt & 9 fawy e & giul
Options:

1) 75

2) 65

3)82

4) 85

Correct Answer: 82

Candidate Answer: 75

QID : 107 - A series is given, with one word missing. Choose the correct alternative from the given ones that will complete the series.

isobar, artist, statute, teapot, otters, ?
TP e faar T B, Rt wes g 81 U U fasedt § | a7 Wt fae giw St oy & )1 R

isobar, artist, statute, teapot, otters, ?
Options:

1) pencil

2) erect

3) tongue

4) meter

Correct Answer: erect

Candidate Answer: meter

QID : 108 - A series is given, with one term missing. Choose the correct alternative from the given ones that will complete the series.
XX, XOX, XXXX, XXOXX, XXXXXX, ?

T SR fEar T B, o w ug qw 71 AT e st § § a8 udt fawen giie S oy & QT &

XX, XOX, XXXX, XXOXX, XXXXXX, ?

Options:

1) XXXOXXXX

2) XXXOXXX

3) XXXXXXX

4) XXXOXXXO
Correct Answer: XXXOXXX
Candidate Answer: XXXOXXX



QID : 109 - A series is given, with one number missing. Choose the correct alternative from the given ones that will complete the series.
3,5/3,1/3,?,-7/3,-11/3
T SR T man B, o uw e qw 81 o U fawed! 7 ¥ 95 w6 e g ot 3y B O R

3,5/3,1/3,?,-7/3,-11/3
Options:

1) -2/3

2) -4/3

3)-1

4) -2
Correct Answer: -1
Candidate Answer: -1

QID : 110 - Divit's birthday is on Friday 30" June. On what day of the week will be Samar's Birthday in the same year if Samar was born on 15" November?

fafad &1 Srafe YehaR 30 FF HY 21 A TR BT 9 15 AR Bl g o7 ot I 9 TR 1 Sl Iare # fow fo gme
Options:

1) Tuesday

HITAIR

2) Friday

RhdR

3) Wednesday
ECEIN

4) Saturday
RUBEIN

Correct Answer: Wednesday
qYIR

Qandidate Answer: Tuesday
HITAAR

QID : 111 - The weights of 4 boxes are 100, 70, 50 and 90 kilograms. Which of the following cannot be the total weight, in kilograms, of any combination of these
boxes and in a combination a box can be used only once?

IR T BT Io 100, 70, 50 3R 90 fpammy 71 Fufafad # § Foui & fdt oft TaioH T oot auH, fraom & HF 1 T2 8 bl § 3R U Tior H U ool U
B IR AT § A o el 87

Options:

1) 310

2) 260

3) 230

4) 210

Correct Answer: 230
Candidate Answer: 310

QID : 112 - From the given words, select the word which cannot be formed using the letters of the given word.
RECLINES

Fafafed fiwedl # ¥ 98 Wsa MU S fAT 71U 2eg & 31&RT BT TIRT HRb Aol ST o Goball:

RECLINES

Options:

1) SINCE

2) RELIC

3) LINER

4) SCARE
Correct Answer: SCARE
Candidate Answer: SCARE

QID : 113 - If REGAINS is coded as QDFZHMR, then how will PRY be coded as?

Tfg REGAINS & f5dfl #1s ¥ QDFZHMR fRaT STl 8, @ PRY &1 3 &g & o1 forar wmwm?

Options:
1) BIX

2) 0QX
3) LFT

4) PSU



Correct Answer: OQX
Candidate Answer: OQX

QID : 114 - In a certain code language, '+' represents 'x', '-' represents '+', 'x' represents '+' and '+' represents '-'. What is the answer to the following question?
45x5+2-20=7?
frdt Brs W #, '+ BT Adad X' B, - BT HIGE '+' ©, X' P AdE '+’ § 3R '+ BT Aaas - g1 Fafifad uy &1 Sw = @2

45x5+2-20=7?
Options:

1) 17

2) 81

3) 38

4) 64
Correct Answer: 38
Candidate Answer: 38

QID: 115 - If 5@1=60; 12@8=200; 16@2=180; then what is the value of 16@10=?

e 5@1=60; 12@8=200; 16@2=180; I 16@10 = ? HT T J1d HIoA|

Options:

1) 32

2) 11

3)9

4) 260

Correct Answer: 260
Candidate Answer: 260

QID: 116 -

Select the missing number from
the given responses

Rw arv fRwedl 7 & g

AT AT
104 ? | 57
87|78 9
103 | 78 | 25

Options:

1) 35

2) 47

3)54

4)78

Correct Answer: 47
Candidate Answer: 47

QID : 117 - Two women A and B are shopping in a mall. They start from the same point. A walks 150 m West, then turns to her left and walks 160 m. B walks 140
m East, then turns South and walks 160 m, then turns to her left and walks 120 m. Where is B with respect to A now?

3l AT A 3R B Us Hit § Tiaer! &2 36! &1 3 T € fig ¥ Tand adl §1 A UfE| @ 8k 150 Hiex de Tard) 8, bR oot o1 8iik g oirelt § &R 160 Hiex ao
At 31 B qd @Y 3R 140 Hiex d% Tad 7, f5R <fRor 3t 3k g Selt ¥ 3iR 160 Hiex b derelt &, R oot a1 ok g et B 7R 120 Hier d =@t 31 A T RUfY
H 3fd B gl W §?

Options:

1) 410 m West

410 Hiex ufgm

2) 410 m East

410 fex gd

3) 170 m East

170 diex gd

4) 170 m West

170 Hiex Uy



Correct Answer: 410 m East
410 Hiex

Candidate Answer: 410 m East

410 Hex gd

QID : 118 - In the question a statement is given, followed by two arguments, I and II. You have to consider the statement to be true even if it seems to be at
variance from commonly known facts. You have to decide which of the given arguments, if any, is a strong argument.

Statement : Should eating paan at public places be made punishable?

Argument I : Yes, people eat pan and spit and makes public places dirty.
Argument II : No, Indians love paan.

oy H U Sy fagr T § e 3 &) b 1 3R 11 foT TR §1 3Mueht AT ® P U I § TR 9% ;I aet @ s uedia g €1 emuest fofg v § ot
T T qT § | PH-9/PH-Y 76 Aed &, A S 8

BYT: T GIaoi~iep VM TR U @M1 S8 T A1 T?

T 1: B, AN UM W & 918 YHd & AR Aol R $I el 4 &
T I1: &1, HRAT &) U @ UE B

Options:

1) if only argument I is strong.

e Had ao 1 Aogd 7

2) if only argument II is strong.

I Fad % 11 A9ed g
3)if bot.h I and II are strong.

T 1 3R 11 A9 5
4) if neither I nor II is strong.
gfe =1 b 1 SR 1 € b 11 e B
Correct Answer: if only argument I is strong.
g Had ad 1 Aoied 7

Candidate Answer: if only argument I is strong.

g Fad ad 1 Aeed 7

QID:119-

Which of the following cube in the answer
figure cannot be made based on the unfolded
cube in the question figure?

FTRfEd 3w 3Fa 7 ¥ Fia9 @ 5
Bw aw weet pla A ¥ g uA A
FATAT FAET S HHAT?

Ol #|]




Options:
1)

Ol

2)

0

Correct Answer:

Candidate Answer:

Ol

QID:120 -
In the following figure, square represents Optometrists, triangle
represents Painters, circle represents Vegetarians and rectangle
represents Men. Which set of letters represents painters who are either
men or vegetarians?

ﬁyﬁf@ﬂa@ﬁlﬁaﬂzﬁﬁrﬁlﬁaﬁm% @Rt o
m%,@mmﬁraﬁ cakusif
JERT BT B mwmﬁm%@ dl geu g ar

BRI &2

Options:

1)D,F

2)EB

3)H,GF

4)ACE

Correct Answer: E,B
Candidate Answer: E,B



QID: 121 -
Which answer figure will complete
the pattern in the question figure?
=R 3% ¥ AW e P na
gt & wfoes & qu Fuh?

/
/
[ /NN
/

Options:
1)

3)

4)

Correct Answer:

\
\

Candidate Answer:

\
\




QID:122-

From the given answer figures, select the

one in which the question figure is
hidden/embedded.

& ¢ e wpfadt F @ 3w gl # g
St W argpfar Mg 8

Options:
1)

Correct Answer:

Vi

Candidate Answer:

e




QID:123-

A piece of paper is folded and punched as shown below
in the question figures. From the given answer figures,
indicate how it will appear when opened.

9o HIHfa # fGWT HaR FereT &
HAlgH 3UH D¢ L TUT el F 16 98
e 3o Imfa St e &am?

Options:

<

2)

]

3)

4)

Correct Answer:

Candidate Answer:




QID: 124 -
If a mirror is placed on the line MN, then

which of the answer figures is the right image
of the given figure?

fE v 90T F MN @7 9T @ ST ar & 1
Iee Hrpfet & el Al weer amepfa
1w wfafess gefe

M
(0]
N
Options:
1)
Q
2)
o
3)
[+
4)
o
Correct Answer:
o
Candidate Answer:
[




QID: 125 -

A word is represented by only one set of numbers as given
in any one of the alternatives. The sets of numbers given in
the alternatives are represented by two classes of alphabets
as shown in the given two matrices. The columns and rows
of Matrix-I are numbered from 0 to 4 and that of Matrix-II are
numbered from 5 to 9. A letter from these matrices can be
represented first by its row and next by its column, for example
'K’ can be represented by 42, 34 etc and 'Z' can be represented
by 96, 79 etc. Similarly, you have to identify the set for the
word 'ROAD"

UE e Fae UE SCALHEE cann effan awar g, st i
oot # & RFdt uwm A R amn ) Reent & Re aw
dEr-aHg e & & @it gaw e wv § S f R
AT A AR H F Hegp-l & wew AR dfea f s
0 % 4 3T HegE-ll F 5 & 9 Bl S HegE ¥ UF WEW
@ TFel 3THT Giad T A 7 TaFH TE gan aximEn &
T ¥ ZeEner F T K W 42, 34 anfe gEm aulr o
FHAT & T 2 & 96, 79 WY qEwr @i S Ahar
s @E ¥ avEr wa # Ry e ROAD & Riv wg
I gEeEe #

Matrix | Matrix I

HTEE -1 =1l
1

Blw N = o
ZIE|-|=|r|o
0= M=
= P m= N
Aalmmia " e
@l= " QX &
o @ |~ e w
= = 0w D w
MNi< C|l® v o
Ol= < 02|
cl=|n < cln
< oM =N e

Options:
1) 24,14,67,76

2) 30,22,86,56
3) 66,67,02,14

4) 13,43,56,86
Correct Answer: 66,67,02,14
Candidate Answer: 66,67,02,14

QID: 126 - The exchange rate is the relative price of foreign goods in terms of domestic goods.

fafm o 3= axg & = u & faR=h axgail ot e FAa B

Options:
1) Artificial

2) Nominal
3) Fixed
BIEG]

4) Real

Correct Answer: Real

Candidate Answer: Artificial

QID: 127 - is an alternative way of representing the production function.

TG B o Uit R T Ueb debietieh SUM g
Options:
1) The Short Run
SfedhTed
2) The Long Run
e

3) Isoquant
qH HEAT
4) Average product
3dI
Correct Answer: Isoquant
HM A=
Candidate Answer: Average product
STd IaTE



QID : 128 - "United Nations Organization" is listed in the list given in the Seventh Schedule in the Constitution of India.

"R Y T WRA & AU Bt et ogg A G R g A gehes 7
Options:
]:) Union

2) State

RS

3) Global

fay

4) Concurrent

Correct Answer: Union

Candidate Answer: Global
fay

QID : 129 - There are total parliamentary seats (Rajya Sabha constituency) in Punjab.

WA FA___ gudE 9 (rsaayn Fafe é) 1
Options:
1)7

2)1
3) 18

4) 10
Correct Answer: 7
Candidate Answer: 10

QID : 130 - Big landlords or warrior chiefs in the seventh century were acknowledged as

Hradt T & S Y SR WGT-TREGR B IH G F o7 59 = F T1=7aT 3 A2
Options:
1) Rashtrakutas

AFRT

2) Chalukya

RISCE

3) Samantas

N

4) Brahmanas

SITeTor

Correct Answer: Samantas
qH

Candidate Answer: Samantas
A

QID : 131 - The Agra fort was built by

STRT 5 1 fmfor 3 wpwaman
Options:

1) Shah Jahan

RUGAEE)

2) Akbar

Jfha}

3) Jahangir

TR

4) Babur
qIR

Correct Answer: Akbar
SfhaR

Candidate Answer: Akbar
PR

QID : 132 - How many states does India have as of June 2017?
S 2017 G R H o I94 82

Options:

1) 26

2)27

3) 28

4)29

by the existing kings?



Correct Answer: 29
Candidate Answer: 29

QID : 133 - The northern plain of India has been formed by the interplay of the three major river systems, namely- the Indus, the Ganga and the

URA & I M i T =TT vonfert § &7 & o Riy, 7w SR Hl
Options:
1) Brahmaputra

SR
2) Krishna

g
3) Kaveri
PR

4) Mahanadi

Correct Answer: Brahmaputra
SR
Candidate Answer: Brahmaputra

ECRE)

QID : 134 - In the names Mangifera indica (mango), Solanum tuberosum (potato) and Panthera leo (lion), what does the three names, indica, tuberosum and leo,
represent?

BONhRT SFEHT (1), WA IR (37 3R Yo fraf (IR) 37 -t o 35, TgdRiaw oiR feiht a1 wfaffta ava €2
Opti :
1)pBIiz2:1ial Nomenclature

2) Taxonomic Hierarchy

3) Identification

EGEEINEL

4) Specific Epithet

S Hebdl UG

Correct Answer: Specific Epithet

S Tohd UG

Candidate Answer: Taxonomic Hierarchy

Ififet UeTgHH

FARIMPeEd, TR, TS, TS TUT TR Sl (Sfequiid St quT FHeT i 1) S 71
Options:
1) Pteridophytes

QID: 135 - are chlorophyll-bearing, simple, thalloid, autotrophic and largely acquatic (both fresh water and marine) organisms.

2) Bryophytes
SHwEe

3) Algae

RG]

4) Gymnosperms
Correct Answer: Algae

Candidate Answer: Algae

QID : 136 - Animals like annelids and arthropods etc where the body can be divided into identical left and right halves in only one plane, exhibit
symmetry.

Tfers ol amifurs, nfe & ue € sier I ToRA aTel 3T §RT IRR &1 AT 1T G §1T HIT H FieT o Il 81 59 gafafa ®ed g
Opti :
1)pCIc::erI‘:nterata

2) Radial
i)

3) Ctenophora
THBR

4) Bilateral

Correct Answer: Bilateral

Candidate Answer: Bilateral



QID : 137 - If the orbit of a planet is an ellipse then what is the point at which the Sun is located called?

Ife T 3 Hem g § o 5 g o R g @ §, = Fgaran 82
Options:
]:)Centre

2) Circumcentre
3) Incentre

4) Focus
BiHg
Correct Answer: Focus

Candidate Answer: Incentre

QID : 138 - The sliding friction is than the static friction.

gff oo, AR T gl
Options:

1) double

g

2) same
3) greater
Eibicy

4) smaller
DH

Correct Answer: smaller
DH

Candidate Answer: smaller
HH

QID: 139 - optical data storage is a technology where data is stored in multiple layers in the optical disc.

3HPHa STeT TR T W] &, el STel &I D 3% R B3 udl # HsTRd faar v 31

Options:
1) 3D

2) 30D
3) 300D

4) 3000D
Correct Answer: 3D
Candidate Answer: 3D

QID : 140 - Kelvin (K) is the unit of measurement of

FeH () AT 3 5T B
Options:

1) Density

UId

2) Pressure

qd

3) Mass

SOIH

4) Temperature

GG

Correct Answer: Temperature
GlELIE]

Candidate Answer: Temperature
GIEEIE]

QID : 141 - What is the process of rust forming on iron called?

R TR ST T B a1 &) T P &7



Options:

1) Rusting
Sukcuc

2) Crystallisation
[EREiCR

3) Shovel
Rad
4) Spade
J=

Correct Answer: Rusting
ST ST

Candidate Answer: Shovel
qqd

QID: 142 - acts as a shield absorbing ultraviolet radiation from the sun.

T ¥ A ard WIS fafdRon (sregarde STRM) B Sfa=ifid A I Had BT HTH 61 |

Options:
1) Chlorofluorocarbons

2) Stratpsphere
JHAIHS A
3) Ozone hole

4) Greenhouse

Correqt Answer: Stratosphere

HHAIHS A

Candidate Answer: Stratosphere

SEGIEE SN

QID: 143 - scheme launched by the Central Government aims to spur social, economic and infrastructure development in rural areas by

developing a cluster of 300 Smart Villages.

F% WPR GRI L= P T8 TISHT BT 3]G 300 T T7al BT AT Breb AHIT &= 7 AT, 3fies 3R 3menes Txa- & I & Mieed &= 8
Options:

1) Soil Health Card

TE] WA B

2) Shyama Prasad Mukherji Rurban Mission

T TG Gl SHR-31e AR

3) Pradhan Mantri Fasal Bima Yojana

THA HHA

4) Pradhanmantri rojgar yojna

Ty Bice|

Correct Answer: Shyama Prasad Mukherji Rurban Mission
T UG GEolf S-S

Candidate Answer: Shyama Prasad Mukherji Rurban Mission
T UG HEol SHR-3

QID : 144 - Who invented the electrocardiogram (ECG)?

ZATCIBISIRH (SHIST) BT IR fbem fmar?
Options:
1) Willem Einthoven
[ERNERICE]
2) Edward Jenner
IR

3) Antonio de Ulloa and Charles Wood
S g Iewrn

e g8
4) Karl Benz
ISR

Correct Answer: Willem Einthoven
o GiaA
Candidate Answer: Antonio de Ulloa and Charles Wood

RISES
QID : 145 - Who is the winner of 2017 Formula One Chinese Grand Prix?

2017 WY@ o =15+ it o1 fasiar Hi 82



Options:
1) Sebastian Vettel
Jafeed dea

2) Lewis Hamilton
3) Valtteri Bottas
et S

4) Kimi Raikkonen
fopelt
Correct Answer: Lewis Hamilton

Candidate Answer: Lewis Hamilton

QID : 146 - In which city of India is Charminar located?

IRAMR YR P 59 wex § fRa 82

Options:
1) Pune

2) Delhi
feeedt

3% Aurangabad

4) Hyderabad
EERE
Correct Answer: Hyderabad

Candidate Answer: Hyderabad

QID : 147 - Which of the following was the winner of the Grammy Awards 2016 "Record of the Year"?

Frofaraa # 9 I PR 2016 T &1 "ReTS 31T  3TR" faoiar o a1 U
Options:
1) Uptown Funk
3[UCT3 Beh
2) Really Love
q
3) Thinking Out Loud

RIfdT 313e A8S
g;lank Space
oy

Correct Answer: Uptown Funk
YIS Bhob
Candidate Answer: Thinking Out Loud

QID : 148 - 1. The author of the novel 'Darkness at Noon' is Victor LaValle.
2. The author of the novel 'The Great Gatsby' is F. Scott Fitzgerald.

3. The author of the novel 'The Sound and the Fury' is L. Ron Hubbard.
Which of the statements given above are not correct?

1. SO "Sh9 Te " & Radh [aex dacd gl

2. SN " e T & R U, Whic ThesiRIes o
3. IUON 'S WIES US ¢ Al & g Uel. I BeaTS Bl
IR | A B 4 HUF e 82

Options:

1)1and 2

13k 2

2)2and3

23R 3

3)1and3

18R 3

4)1,2and 3

1,2 3R 3

Correct Answer: 1 and 3

13k 3

Candidate Answer: 1 and 2
13R2

QID : 149 - What was Norway's rank in 2016 Human Development Index published by the United Nations Development Programme?
2016 H UG 1Y AT HRIHH GRI TSR A4 9o Gl § A1d 31 9ot T o



Options:
1)1

2) 10
3) 100

4) 200
Correct Answer: 1
Candidate Answer: 100

QID : 150 - Which country is not a member of Bay of Bengal Initiative for Multi-Sectoral Technical and Economic Cooperation (BIMSTEC)?

P 1 2 Tg-OA1T dh-arT 3R ofifer WedhT & frw S Bt W) ved (Memsuruadiz) F1 Tew TE 82
Opti :
Ortions:

2) Myanmar
AR

3) India
&

4) Pakistan
TR
Correct Answer: Pakistan

Canqidate Answer: Thailand

QID : 151 - What is the value of 9991 x 10009?

9991 x 10009 T T FT §?
Options:

1) 99999099

2) 99999819

3) 99999919

4) 99999019

Correct Answer: 99999919

Candidate Answer: 99999919

QID: 152 - Acando 1/3%of a job in 3 days and B can do half of the job in 9 days. If they work on it together, then in how many days can they finish half of the
job?

A foelt & &1 1/3-af U 3 e o TR AR TohelT § MR B I BT BT 31T YT 9 oA U AR bl 81 I T 3 R TS WY HTH IR & o 9 e R F amen w
T R B 82

Options:

1)4

2)5

3)6

4)3

Correct Answer: 3

Candidate Answer: 3

QID : 153 - What is the area (in sq cm) of a rhombus if the lengths of its diagonals are 25 cm and 20 cm?

T T 9GS BT & (arf ., F) o ghm, SR I 3wl at dars 25 9., ok 20 A, 22
Options:

1) 500

2) 250

3) 125

4) 200

Correct Answer: 250

Candidate Answer: 250

QID : 154 - If a shopkeeper sells an item at Rs 4200 which is marked as Rs 4800, then what is the discount (in %) that he is offering?

I TH PR 4200 ¥ TR U I o1 § Foraept sifhd Tewr 4800 F B, A1 I8 a1 Be (% H) B IS IR T 82
Options:

1) 12,5

2) 14.28

3) 10

4)15

Correct Answer: 12.5

Candidate Answer: 10



QID : 155 - The flight fare between two cities is increased in the ratio 11:13. What is the increase (in Rs) in the fare, if the original fare was Rs 12100?

2 e & ST IS BT fBRMN 11:13 & SUTd W a7 feam T 81 afe 7e fmmar 12100 % T, & fe & g2 sgia’) (3 ) fapait 82

Options:
1) 14300
2) 2200
3) 22000
4) 1430

Correct Answer: 2200
Candidate Answer: [ NOT ANSWERED ]

QID : 156 - 3 numbers whose average is 112, the first number is 1/6th the sum of other 2. What is the first number?

3 TETe RT3 112 B, STH Ugel! T 1 HF 347 2 TReAmaif & TNT 1 1/6-af YT g | Ugell T2 o git?
Options:

1) 45

2) 30

3)15

4) 48

Correct Answer: 48

Candidate Answer: 48

QID : 157 - A trader buys 800 kgs of tomatoes for Rs 7200. 10% tomatoes are damaged in transportaion. At what rate (Rs/Kg) should he sell the rest to earn 30%
profit?

%?Tmﬁnowﬁsooﬁimm@ﬁm%lU&&%ﬁﬁm%mmﬁﬁﬁ% 30% @Y 3T B & e I Tt o eHIeR by &R (3 / fb.am.) R a=m
?

Options:

1)9

2)13

3) 10

4) 12

Correct Answer: 13
Candidate Answer: 13

QID : 158 - A student has to secure 35% marks to pass in a subject. If he gets 82 and fails by 23 marks. What is the maximum marks of the subject?

T B B U vy & Ui 81 & U 35% $ich i &3 g1 3 38 82 3ich e & 81k 98 23 3Sichl | Tt 81 &Il & oY 3 fawy Saifiehad 3ie fpan @ g2
Opti H

1300

2) 250

3) 350

4) 400

Correct Answer: 300
Candidate Answer: 300

QID : 159 - A spaceship travels at 810 km/hr. How many metres does it travel in 1/5 of a second?

T 3fafkes T 810 fFaiiex / € & IR § T Rl 81 I8 1/5-3 Adbe H forant Hiex &) amm e
Options:

1) 60

2) 45

3)75

4)90

Correct Answer: 45

Candidate Answer: 45

QID : 160 - If the amount received at the end of 2" and 3 year as Compound Interest on a certain Principal is Rs 2100, and Rs 2268 respectively, what is the rate
(in %) of interest?

Ife T T qauT W Thafe el gRT gER 3R e oy uret S areft AR SHRT: 2100 T SR 2268 ¥ 7, A S R (% H) T IR
Options:

1)7

2)8

3)9

4) 10

Correct Answer: 8

Candidate Answer: 8

QID: 161 - If 5x - (1/2)(2x -7) = 5.5, then what is the value of x?

TfE 5x - (1/2)(2x-7) = 5.5 & < x BT A T 82



Options:

1) 3/2

2)1/2

3)-1/2

4) -3/2

Correct Answer: 1/2
Candidate Answer: 1/2

QID:162-Ifa + b = 4 and ab = -5, then what is the value of a° + b*?

ga+b=43Rab=-58AMa’ + b’ BT I AT E?
Options:

1) 34

2)36

3) 124

4) 126

Correct Answer: 124
Candidate Answer: 124

QID : 163 - The sum of a number and 4 times its reciprocal is 5. What is the number?

TP T 3R IGP GebH & 4 TUT B TN 5 B | I8 IS & B2
Options:

1)4

2)5

3)6

4)7

Correct Answer: 4

Candidate Answer: 4

QID: 164 - The 3 and 8™ term of an arithmetic progression are -13 and 2 respectively. What is the 14" term?

THiR Juit &1 AR SR MeaT Ue HH: -13 3R 2 ]1 14-ai UE 1 82
Options:
1) 23

Correct Answer: 20
Candidate Answer: 20

QID : 165 - What is the reflection of the point (4, -3) in the liney = 1?

Xy = 1 % ig (4, -3) F1 vfafss 7= 82
Options:

1) (4, -5)

2) (4, 5)

3) (-4, -5)

4) (-4, 5)

Correct Answer: (4, 5)

Candidate Answer: (4, 5)

QID : 166 - In what ratio does the point T(x, 0) divide the segment joining the points S(5, 1) and U(-1, -2)?

g T(x, 0), &g S(5, 1) 3R &g U(-1, -2) BT e TTe TGS &1 b SuTd H f3iora awar 82
Options:

1)2:1

2)1:2

3)3:1

4)2:3

Correct Answer: 1 : 2

Candidate Answer: 3 : 1

QID : 167 - At what point does the line 3x + 2y = 12 cuts the Y-axis?

X 3x + 2y = 12 {50 fig W v-31ef B Fredht 22
Options:

1) (0, 6)

2) (0, -6)

3) (6, 0)

4) (-6, 0)

Correct Answer: (0, 6)

Candidate Answer: (0, 6)



QID : 168 - The areas of two similar triangles AABC and APQR are 121 sq cms and 64 sq cms respectively. If PQ = 12 cm, what is the length (in cm) of AB?

< Iy Py AABC 3R APQR &1 &atha S 121 aif I.7f. 3R 64 orf .Y, 31 i PQ = 12 V.. B A AB Y o (.7, &) bt 2
Options:

1)7.25

2) 6.25

3) 16.5

4)5.25

Correct Answer: 16.5
Candidate Answer: 16.5

QID : 169 - What is the value of Tan 60° + Cosec 60°?

Tan 60° + Cosec 60° T A T4T 82
Options:

1)5/3

2) 2/v3

3) 5/v3

4) 2/3

Correct Answer: 5/V3
Candidate Answer: 2/+/3

QID : 170 - A XYZ is right angled at Y. If m£Z = 60°, then what is the value of (1/v2) Sec X?

AXYZ, Y TR GHAS 1 A m2Z = 60° §, Tt (1/v/2) Sec X T A &1 82
Options:

1) 2/V3

2) 1/v6

3) 1/V3

4) 2/v6

Correct Answer: 2/V6

Candidate Answer: 2/V6

QID: 171 - If Cosec 6 = 17/8, then what is the value of Cos 6?

& Cosec 8 = 17/8 B, Tl Cos 6 HT AM T §2
Options:

1) 15/8

2) 15/17

3) 8/15

4) 17/15

Correct Answer: 15/17

Candidate Answer: 15/17

QID:172-

The bar graph shows GDP for the year 2016 In billion USD of six countries
(A, B, C, D, E, F) of aregional trade block. Study the diagram and answer the
following questions.

ar a% af 2016 % tF &g wEEE wie & o5 A (4,8,C,0,6F)

& WHA TR I (3 HADE SR #) gafian ) 59 A &1 e
1 i farafaf@a vt &1 3o &)

120
¥ 0
100 %
& &
HE .
-~ b 50
a
| 8 10 30
[
g g 20
| 20
2 1
E 0
A B C D E F
Country /&%

Which country is the third biggest in terms of Gross Domestic Product (GDP)?
Tl AT ITG (S S ) & Hefy H S 1 3 TR WH R I 7 32



Options:

1)A

2)C

3)E

4)F

Correct Answer: C
Candidate Answer: C

QID:173-
The bar graph shows GOP for the year 2016 In billion USD of six countries

(A, B, C, D, E, F) of aregional trade block. Study the diagram and answer the
following questions.

aR TE af 2016 # w A wEEiE e & OF &2 (4,8,C,0,EF)
& WEA [T U (FF FANET R ) ol B1 59 o & e
ahﬂtf‘-lmﬁ'tﬁama‘immt

120

E 2= 100 &
gg s0 70

< 2 50
S

it I : I
I

g 0! .

3 A 1 ¢ o 3 [

Country / &%

By what amount (in billion USD) is the Gross Domestic Product (GDP) of Country A lesser than that of Country F?

I A PTG AP IaTE (S St ), I F I e i (R st SR H) § HH &2
Options:

1) 20

2) 50

3)25

4) 40

Correct Answer: 40

Candidate Answer: 20

QID: 174 -

The bar graph shows GOP for the year 2016 In billion USD of six countries
(A, B, C, D, E, F) of aregional trade block. Study the diagram and answer the
following questions.

ax A% qb 2016 H UF AT wWEEE e & OF & (4,8,C,0,6F)

& TEE T 30 (G HA0E gt #) el B s & aneaad
ﬂmﬁmﬁﬁawaﬁﬂmt & e

120
¥ 0
100 %
®
g E 50 70
< = 50
a
] 40 30
it »
20
s 1
g 0!
3 A 1 ¢ o 3 [
Country / &%

What is the ratio of Gross Domestic Product (GDP) of Country E to Total of GDPs of countries A, C and F taken together?

IWE FTAWAC AR F F $ Goa APy Iare (St St ) § a1 srguma &1 82



Options:

1)3:5

2)5:3

3)9:5

4)5:9

Correct Answer: 3 : 5
Candidate Answer: 3 : 5

QID: 175 -
The bar graph shows GDP for the year 2016 In billion USD of six countries

(A, B, C, D, E, F) of aregional trade block. Study the diagram and answer the
following questions.

ax a% @t 2016 ¥ vF & wewE e F oF St (4,8,C,0,6F)

& WHE e 30U (3 FADEY SR #) Zeffan ) 59w & e
&1 MR fArafaf@a vt & 3w &)

120
y .
100 %
&'
% E 80 70
- o 50
a
£ 40 30
B 20
i & .20
; E I
& 0
3 A 8 ¢ o 3 [
Country / &

If the combined GDP of the six countries has grown by 50% in the last decade, then what was their combined annual Gross Domestic Product (in billion USD) before
10 years?

Ife e axre o B axi & UYad IHhd AP IATE H 50% B 3 g3 8, 1 10 IY U5d Ie! $ga e Yad MYy SdTe (3RT Fd®! Ser #) fra ure
Options:

1) 540

2) 180

3) 240

4) 200

Correct Answer: 240

Candidate Answer: 240

QID : 176 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate
option. If a sentence is free from error, select 'No Error'.

Water was dripping (1)/ of the trees, and (2)/ the grass was wet. (3)/No Error (4)
Options:

1)1

2)2

3)3

4)4

Correct Answer: 2

Candidate Answer: 2

QID : 177 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate
option. If a sentence is free from error, select 'No Error'.

Pravin sat up on the (1)/ sofa, with his legs (2)/ tucked down him. (3)/No Error (4)
Options:

1)1

2)2

3)3

4)4

Correct Answer: 3

Candidate Answer: 3

QID : 178 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and
indicate it by selecting the appropriate option.

At night, the hungry orphan would sneak into the kitchen and tiny amounts of food.



Options:

1) prefer

2) lifter

3) differ

4) pilfer

Correct Answer: pilfer
Candidate Answer: lifter

QID : 179 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and
indicate it by selecting the appropriate option.

As the only person in the wacky family, the sensible girl felt like the odd woman out.
Options:

1) insane

2) vain

3) sane

4) main

Correct Answer: sane

Candidate Answer: insane

QID : 180 - In the following question, out of the four alternatives, select the word similar in meaning to the word given.

Piquancy

Options:

1) Bland

2) Flavouring

3) Insipid

4) Tedious

Correct Answer: Flavouring

Candidate Answer: Flavouring

QID : 181 - In the following question, out of the four alternatives, select the word similar in meaning to the word given.

To Confront
Options:

1) To Avoid
2) To Dodge
3) To Yield
4) To Accost

Correct Answer: To Accost
Candidate Answer: To Yield

QID : 182 - In the following question, out of the four alternatives, select the word opposite in meaning to the word given.

Savant

Options:

1) Amateur

2) Academic

3) Pundit

4) Egghead

Correct Answer: Amateur
Candidate Answer: Pundit

QID : 183 - In the following question, out of the four alternatives, select the word opposite in meaning to the word given.

To Indict
Options:

1) To Arraign

2) To Censure
3) To Exonerate
4) To Impeach

Correct Answer: To Exonerate
Candidate Answer: To Exonerate

QID : 184 - In the following question, out of the four alternatives, select the alternative which best expresses the meaning of the idiom/phrase.

To Have bitten off more than you can chew

Options:

1) To eat voraciously and then fall sick

2) To behave disrespectfully towards elders and then repent the act

3) To have tried to do something which is too difficult

4) To have missed a golden opportunity and after that willing to put twice the effort to recover the loss
Correct Answer: To have tried to do something which is too difficult

Candidate Answer: To behave disrespectfully towards elders and then repent the act



QID : 185 - In the following question, out of the four alternatives, select the alternative which best expresses the meaning of the idiom/phrase.

Out of print

Options:

1) Not able to print due to being short on paper

2) A book no longer available from the publisher

3) Intentionally not mention some items in the article or book
4) All publishers refuse to publish your book

Correct Answer: A book no longer available from the publisher
Candidate Answer: Intentionally not mention some items in the article or book

QID : 186 - In the following question, out of the four alternatives, select the alternative which will improve the bracketed part of the sentence. In case no
improvement is needed, select "no improvement".

I'm (having to) too much fun.
Options:

1) having

2) had

3) has

4) no improvement

Correct Answer: having
Candidate Answer: having

QID : 187 - In the following question, out of the four alternatives, select the alternative which will improve the bracketed part of the sentence. In case no
improvement is needed, select "no improvement".

What would the cavalry (doing) out here?
Options:

1) be doing

2) be done

3) done

4) no improvement

Correct Answer: be doing
Candidate Answer: be done

QID : 188 - In the following question, out of the four alternatives, select the alternative which is the best substitute of the words/sentence.

In exactly the same words as were used originally
Options:

1) Verbatim

2) Offbeat

3) Divergent

4) Contrary

Correct Answer: Verbatim

Candidate Answer: Contrary

QID : 189 - In the following question, out of the four alternatives, select the alternative which is the best substitute of the words/sentence.

A person inclined to question or doubt accepted opinions
Options:

1) Adherent

2) Sceptic

3) Zealot

4) Disciple

Correct Answer: Sceptic

Candidate Answer: Adherent

QID : 190 - In the following question, four words are given out of which one word is correctly spelt. Select the correctly spelt word.
Options:

1) Ditheering

2) Dethering

3) Dithering

4) Detheering

Correct Answer: Dithering

Candidate Answer: Detheering

QID : 191 - In the following question, four words are given out of which one word is correctly spelt. Select the correctly spelt word.
Options:

1) Throtled

2) Throttlede

3) Throtlede

4) Throttled

Correct Answer: Throttled

Candidate Answer: Throttled



QID : 192 - The question below consists of a set of labelled sentences. Out of the four options given, select the most logical order of the sentences to form a
coherent paragraph.

Children are sensitive

X-to what happens around them and are
Y-enthusiastic about working on
Z-plays that reflect their lives
Options:

1) ZYX

2) XYz

3) ZXY

4) YZX

Correct Answer: XYZ
Candidate Answer: XYZ

QID : 193 - The question below consists of a set of labelled sentences. Out of the four options given, select the most logical order of the sentences to form a
coherent paragraph.

But this does not mean
X-phenomena to the body
Y-is a meaningless expression
Z-that the reference of mental
Options:

1) YZX

2) ZXY

3) YXz

4) XzY

Correct Answer: ZXY
Candidate Answer: ZXY

QID : 194 - In the following question, a sentence has been given in Active/Passive voice. Out of the four alternatives suggested, select the one which best expresses
the same sentence in Passive/Active voice.

The travel agent is making all the reservations.

Options:

1) All the reservations is made by the travel agent.

2) All the reserving will be made by the travel agent.

3) All the reservations are being made by the travel agent.

4) All the reserving is made by the travel agent.

Correct Answer: All the reservations are being made by the travel agent.

Candidate Answer: All the reservations are being made by the travel agent.

QID : 195 - In the following question, a sentence has been given in Direct/Indirect speech. Out of the four alternatives suggested, select the one which best
expresses the same sentence in Indirect/Direct speech.

He said to the dentist, "I have a toothache."

Options:

1) He told the dentist that I have a toothache.

2) He told the dentist that he had gotten a toothache.

3) He told the dentist that he had a toothache.

4) He told the dentist that I have a gotten toothache.

Correct Answer: He told the dentist that he had a toothache.
Candidate Answer: He told the dentist that he had a toothache.

QID : 196 - In the following passage, some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

The Trikonasana, or triangle pose, stimulates the function of the entire body and a lateral (side) stretch to the spine. It helps
reduce blood pressure, stress, and anxiety. Practise this asana every day and you'll strength in the ankles, thighs, knees, hips, calves
and hamstrings. All standing poses the cardiovascular system, so the more you do it, the your stamina will become. The
aim is never to overdo it, but to engage regularly, that you get stronger and more stable over time.

function of the entire body and a lateral (side) stretch

Options:

1) given

2) gave

3) to give

4) gives

Correct Answer: gives
Candidate Answer: gives



QID : 197 - In the following passage, some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

The Trikonasana, or triangle pose, stimulates the function of the entire body and a lateral (side) stretch to the spine. It helps
reduce blood pressure, stress, and anxiety. Practise this asana every day and you'll strength in the ankles, thighs, knees, hips, calves
and hamstrings. All standing poses the cardiovascular system, so the more you do it, the your stamina will become. The
aim is never to overdo it, but to engage regularly, that you get stronger and more stable over time.

you'll strength in the ankles, thighs, knees, hips

Options:

1) gaining

2) gain

3) gained

4) to gain

Correct Answer: gain
Candidate Answer: gain

QID : 198 - In the following passage, some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

The Trikonasana, or triangle pose, stimulates the function of the entire body and a lateral (side) stretch to the spine. It helps
reduce blood pressure, stress, and anxiety. Practise this asana every day and you'll strength in the ankles, thighs, knees, hips, calves
and hamstrings. All standing poses the cardiovascular system, so the more you do it, the your stamina will become. The
aim is never to overdo it, but to engage regularly, that you get stronger and more stable over time.

All standing poses the cardiovascular system

Options:

1) built

2) build

3) building

4) to build

Correct Answer: build
Candidate Answer: to build

QID : 199 - In the following passage, some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

The Trikonasana, or triangle pose, stimulates the function of the entire body and a lateral (side) stretch to the spine. It helps
reduce blood pressure, stress, and anxiety. Practise this asana every day and you'll strength in the ankles, thighs, knees, hips, calves
and hamstrings. All standing poses the cardiovascular system, so the more you do it, the your stamina will become. The
aim is never to overdo it, but to engage regularly, that you get stronger and more stable over time.

so the more you do it, the your stamina.

Options:

1) best

2) better

3) good

4) too good

Correct Answer: better
Candidate Answer: better

QID : 200 - In the following passage, some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

The Trikonasana, or triangle pose, stimulates the function of the entire body and a lateral (side) stretch to the spine. It helps
reduce blood pressure, stress, and anxiety. Practise this asana every day and you'll strength in the ankles, thighs, knees, hips, calves
and hamstrings. All standing poses the cardiovascular system, so the more you do it, the your stamina will become. The
aim is never to overdo it, but to engage regularly, that you get stronger and more stable over time.

to engage regularly, that you get stronger and more stable

Options:

1) if

2) of

3) so

4) to

Correct Answer: so
Candidate Answer: so



